APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	BILL MCGLYNN	Page 1 of 3							
		TRUCTION OF CONCRETE SIDEWALK AND INCIDENTAL							
Project: CONC	RETE CURB & GUTTER WORK ORDI	ERED (DISTRICT 15) BY THE COMMON COUNCIL - 2017							
Contract Number:	7904	Payment Number: 2							
DO NOT WRI	TE IN THIS BOX - TO BE COM	PLETED BY CITY ENGINEERING PERSONNEL ONLY							
TOTAL FROM PAG	E:3	556,973.15							
LESS RETAINAGE:		19,270.75							
SUBTOTAL:		537,702,40							
LESS PREVIOUS P	AYMENTS:	269,635.17							
CURRENT PAYME	NT DUE:	\$ 268,067.23							
INSPECTOR'S CEF		the best of his/her knowledge, the work covered							
	at the contractor is entitled to payme	ompleted in accordance with the contract documents, nt for the amount certified.							
INSPE	conteddin ctor	7-26-17 DATE							
PLEASE PROVIDE TI	HE TIME PERIOD FOR THIS PAYMEN	TREQUEST: FROM: 7/01/17 TO: 7/22/17							
	Trucking CO; LLC.	RS THAT WORKED ON PROJECT DURING THIS PERIOD:							
	D PAYMENT REQUEST SHALL BE SUE AL PAYMENTS CAN BE PROCESSED E	BMITTED TO THE ENGINEER/INSPECTOR. VERY TWO WEEKS.							

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

STANDARD SIDEWALK, INC.

ANNUAL CONSTRUCTION AND RECONSTRUCTION OF CONCRETE SIDEWALK AND INCIDENTAL CONCRETE CURB & GUTTER WORK ORDERED (DISTRICT 15) BY THE COMMON COUNCIL - 2017 CONTRACT NO. 7904

PAYMENT NO. 2

PAYME	NT NO. 2										******		
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
ACCOU	NT NO. 11466-403-200												
10802	ROOT CUTTING - SIDEWALK	400.00	L.F.	\$5.00	\$2,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20101	EXCAVATION CUT	20.00	C.Y.	\$10.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20218	CRUSHED STONE	30.00	TON	\$10.00	\$300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20221	TOPSOIL	90.00	S.Y.	\$12.50	\$1,125.00		36.93	\$461.63	25.26	\$315.75	62.19	\$777.38	69.1%
20302	SAWCUT CONCRETE FULL DEPTH	100.00	L.F.	\$5.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20303	SAWCUT BITUMINOUS PAVEMENT	50.00	L.F.	\$5.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	75.00	S.F.	\$4.00	\$300.00		161.63	\$646.52	0.00	\$0.00	161.63	\$646.52	215.5%
20401	CLEARING	10.00	I.D.	\$25.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20403	GRUBBING	10.00	I.D.	\$25.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20501	ADJUST SEWER ACCESS STRUCTURE	4.00	EACH	\$300.00	\$1,200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20502	ADJUST CATCH BASIN	1.00	EACH	\$300.00	\$300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20701	TERRACE SEEDING	90.00	S.Y.	\$2.00	\$180.00		36.93	\$73.86	25.26	\$50.52	62.19	\$124.38	69.1%
21061	EROSION MATTING	90.00	S.Y.	\$7.00	\$630.00		36.93	\$258.51	25.26	\$176.82	62.19	\$435.33	69.1%
30101	#4 EPOXY COATED PAVEMENT TIE	5.00	EACH	\$15.00	\$75.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30301	5 INCH CONCRETE SIDEWALK	1,500.00	S.F.	\$8.50	\$12,750.00		281.08	\$2,389.18	736.29	\$6,258.47	1,017.37	\$8,647.65	67.8%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	100.00	S.F.	\$9.20	\$920.00		0.00	\$0.00	89.64	\$824.69	89.64	\$824.69	89.6%
30330	PROFILE SAWCUT	5.00	L.F.	\$25.00	\$125.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30340	CURB RAMP DETECTABLE WARNING FIELDS	1,096.00	S.F.	\$5.00	\$5,480.00		192.00	\$960.00	216.00	\$1,080.00	408.00	\$2,040.00	37.2%
30501	REMOVE AND REPLACE 5 INCH CONCRETE SIDEWALK - SIDEWALK REPLACEMENT PROGRAM	63,500.00	S.F.	\$9.50	\$603,250.00		24,873.58	\$236,299.01	26,083.04	\$247,788.88	50,956.62	\$484,087.89	80.2%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

STANDARD SIDEWALK, INC.

FIELDS

ANNUAL CONSTRUCTION AND RECONSTRUCTION OF CONCRETE SIDEWALK AND INCIDENTAL CONCRETE CURB & GUTTER WORK ORDERED (DISTRICT 15) BY THE COMMON COUNCIL - 2017

CONTRACT NO. 7904 PAYMENT NO. 2 ****** #10 1 2 3 5 6 7 8 9 11 12 **ESTIMATED** UNIT PRICE CONTRACT C. O. UNITS THIS UNITS PREV. TOTAL PERCENT COMPLETE ITEM TYPE OF WORK **QUANTITIES** UNITS BID **DOLLARS DOLLARS** APPL. **EXTENSION** APPL.(S) **EXTENSION** UNITS **EXTENSION REMOVE AND REPLACE 7 INCH** 30502 **CONCRETE SIDEWALK - SIDEWALK** 10,300.00 S.F. \$10.05 \$103,515.00 1,788.58 \$17,975.23 2,115.12 \$21,256.96 3,903.70 \$39,232.19 37.9% REPLACEMENT PROGRAM REMOVE AND REPLACE CONCRETE \$1,000.00 30503 STEPS - SIDEWALK REPLACEMENT 25.00 S.F. \$40.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% PROGRAM REMOVE EXISTING ASPHALT 30504 SIDEWALK & DRIVEWAY - SIDEWALK 150.00 S.F. \$2.00 \$300.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% REPLACEMENT PROGRAM REMOVE AND REPLACE CONCRETE 30505 **CURB & GUTTER - SIDEWALK** 230.00 L.F. \$45.00 \$10.350.00 249.65 \$11.234.25 0.00 \$0.00 249.65 \$11.234.25 108.5% REPLACEMENT PROGRAM **RESET BRICK PAVERS - SIDEWALK** 30506 75.00 S.F. \$15.00 \$1,125.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% REPLACEMENT PROGRAM 40201 **HMA PAVEMENT TYPE E-0.3** 240.00 SY \$40.00 \$9,600.00 34.92 \$1.396.80 87.40 \$3,496.00 122.32 \$4.892.80 51.0% ADJUST INLET CASTING, TYPE "H" -40364 1.00 **EACH** \$450.00 \$450.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% RESURFACING TES CONCRETE, REMICVE AND REPLACE 7 INCH CONCRETE 90001 100.00 S.F. \$15.00 \$1.500.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% SIDEWALK - SIDEWALK DEDI ACEMENT DOCCDAM SUBTOTAL \$757,925.00 \$271,694.99 \$281,248.09 \$552,943.08 73.0% ACCOUNT NO. 85131-54425 20101 **EXCAVATION CUT** 10.00 C.Y. \$10.00 \$100.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% 20218 CRUSHED STONE 10.00 TON \$10.00 \$100.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% TOPSOIL 20221 10.00 S.Y. \$12.50 \$125.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% **TERRACE SEEDING** S.Y. \$0.00 \$0.00 20701 10.00 \$2.00 \$20.00 0.00 0.00 \$0.00 0.00 0.0% 21061 **EROSION MATTING** 10.00 S.Y. \$7.00 \$70.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% 7 INCH CONCRETE SIDEWALK & DRIVE 100.00 S.F. \$920.00 0.00 \$0.00 0.00 \$0.00 30302 \$9.20 0.00 \$0.00 0.0% 30330 PROFILE SAWCUT 10.00 L.F. \$25.00 \$250.00 0.00 \$0.00 0.00 0.00 \$0.00 \$0.00 0.0% **CURB RAMP DETECTABLE WARNING** 30340 24.00 S.F. \$5.00 \$120.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

STANDARD SIDEWALK, INC.

ANNUAL CONSTRUCTION AND RECONSTRUCTION OF CONCRETE SIDEWALK AND INCIDENTAL CONCRETE CURB & GUTTER WORK ORDERED (DISTRICT 15) BY THE COMMON COUNCIL - 2017 CONTRACT NO. 7904

PA'	YMEN	IT N	0. 2
-----	------	------	------

	<u>-</u>	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
30505	REMOVE AND REPLACE CONCRETE CURB & GUTTER - SIDEWALK REPLACEMENT PROGRAM	20.00	L.F.	\$45.00	\$900.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40201	HMA PAVEMENT TYPE E-0.3	10.00	SY	\$40.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90002	BUS PAD	900.00	S.F.	\$11.00	\$9,900.00		131.97	\$1,451.67	234.40	\$2,578.40	366.37	\$4,030.07	40.7%
	SUBTOTAL				\$12,905.00			\$1,451.67		\$2,578.40		\$4,030.07	31.2%
									. ,				•
CONTR	ACT TOTALS				\$770,830.00			\$273,146.66		\$283,826.49		\$556,973.15	72.3%